1 HEHBEa0F oA L ABEHEE

XY ANTHEARIETAI0B

No. £ 51 B
63015 304K E; kS E=HT
63016 304€ =it E=HT
63017 304K E; kS E=HT
63018 106 E; 1k HRHT
63019 106 Tt HRHT
63020 804€ Tt AUDM
63021 206K 5% INFRTH
63022 406K E; 1k INFRTH
63023 204K it INFRTH
63024 1065 E; kS INFRTH
63025 406K E; 1k INFRTH
63026 206K E; kS INFRTH
63027 304 5% INFRTH
63028 406K 5% AUDM
63029 1065 5% INFRTH
63030 1065 5% INFRTH
63031 604K 54 = IR AT
63032 | 10@RiE 5% = TR ET
63033 1045 Bt = HalT
63034 1065 =it HEH
63035 604 5% wmE T
63036 304K =it wmET
63037 1065 Tt = HalT
63038 804€ it wE T
63039 | 10mEKiE =it wEE T
63040 | 10mEKRiE oy £ wmET
63041 1055 K i Bit EET
63042 1065 Bt wEE T
63043 106 Bt wET
63044 304K Bt HEH
63045 60K =it =T
63046 406K B =T
63047 504 =it wEE T
63048 206K Bt wEE T
63049 406K oy £ wEE T
63050 304K =it wEE T
63051 206K Bt NI FEET
63052 1065 B 0 = HT
63053 608 ziE wEE T
63054 1065 zit = SR AT
63055 206K zit = SR T
63056 106 ziE g
63057 604 =it ik
63058 06 =it g
63059 60 zit =Rz
63060 304K B g
63061 1065 =it g
63062 504 B g
63063 206K Bit =Rz
63064 504 Bt =Rz
63065 1065 =it #R T
63066 | 10mEKRiE Bt #RI T
63067 406K zit #RI T
63068 406K zit # T

No. FHK 51 fEiEdh
63069 1048 5 I
63070 404K 5% I
63071 10K i 5% = RxHT
63072 | 10mRiE 5% = RxHT
63073 | 10mRiE 5% = RxHT
63074 | 10mRiE 5% = RxHT
63075 | 10mRiE =it = RxHT
63076 304K it I
63077 1048 =it #I
63078 1048 it I
63079 | 10K =it = RxHT
63080 1048 =it I
63081 304X 5 I
63082 304K 5 I
63083 304K =it I
63084 404K it I
63085 304K ziE = RxHT
63086 | 10Kk =it = RxHT
63087 1048 B4 I
63088 | 10mKiE B1% I
63089 404K =it I
63090 404K 5% = RxHT
63091 1048 =it I
63092 1048 5 I
63093 4068 gk = R%HT
63094 304K Bt = R%HT
63095 | 10mEKi =i A
63096 304K =i = R%HT
63097 204K gk = R%HT
63098 | 10K B4 I
63099 104€ =i I
63100 404K 1% I
63101 206X B1% I
63102 404K 1% I
63103 20X gk I
63104 304K 1% I
63105 304K Bt = R%HT
63106 | 10K Bt = R%HT
63107 104€ 1% I
63108 104K gk I
63109 504K B I
63110 106 B1% I
63111 106K 1% I
63112 | 10K =i BRER
63113 504K =i I
63114 104K gk I
63115 | 10mKiE 1% I
63116 | 10mKiE 1% I
63117 206X 1% I
63118 20X 1% I
63119 206X 1% I
63120 304 Bt = R%HT
63121 404K =i I
63122 | 10@mKiE Bt = R%HT




No. £ 51 EiEt
63123 206K 5% LA
63124 | 10mKim Tt g
63125 206 it g
63126 504 it g
63127 604 it g
63128 | 10mKim it g
63129 804K 5 =Rz
63130 | 10mKim it =4
63131 10 K & Tt =RzHT
63132 1065 5% LA
63133 1065 5% LA
63134 | 10mKim Tt iy
63135 | 10K 5% LA
63136 | 10ERiE 5% =Rz
63137 | 10mKim Tt =Rz
63138 406K 5% LA
63139 1065 5% LA
63140 | 10K 5% =4
63141 10m% K i 54 =Rz
63142 206 Tt g
63143 304K B LA
63144 | 10@RH T =54
63145 1065 B LA
63146 206K 5 LA
63147 306K Tt g
63148 304K 5% LA
63149 | 10mEKRim Bit =Rz
63150 406K =it g
63151 304K oy £ g
63152 904 B LA
63153 | 10mEKRiE Bt BRER
63154 | 10mEKRiE Bt BRER
63155 406K B LA
63156 204€ zit =Rz
63157 404K =it =Rz
63158 1065 B LA
63159 | 10mEKRiE =it =Rz
63160 | 10mEKRiE oy £ =RzHT
63161 1055 K i =it LA
63162 | 10mEKRim B g
63163 304K ziE =Rz
63164 1065 =it g
63165 304K zit g
63166 206K Bt =Rz
63167 504 oy £ g
63168 304K Bt =54
63169 304 zit g
63170 206K zit g
63171 904K zit g
63172 304K =it g
63173 | 10mEKRiH Bt g
63174 1065 Bt #I T
63175 106 Bt T
63176 60K Bt #RI T
63177 50K zit #I T
63178 206K Bt T
63179 604 Bt #I T

No. FR 5 B
63180 | 10K it g
63181 10K i 1S 911 BT
63182 | 10mRiE 5% BEh
63183 604K it BEh
63184 50K L1k BEh
63185 804K £z 1S BEh
63186 304K it BEh
63187 604K it BEh
63188 404K ziE BEh
63189 206X 5% BEh
63190 604K 5% BEh
63191 404K it BEh
63192 404K it BEh
63193 404K 5% BEh
63194 404K it BEh
63195 1048 it BEh
63196 1048 5% BEh
63197 1048 =it BEh
63198 1048 it BEh
63199 1048 Tt BEh
63200 1048 gk BEh
63201 1048 5% BEh
63202 | 10mEKiw =i BEh
63203 1048 =it BEh
63204 1048 it BEh
63205 804K 5% BEh
63206 1048 Bt BEh
63207 304K B1% SERE
63208 104K =i SERE
63209 804K 1% SERE
63210 404K 1% SERE T
63211 604K gk SERE
63212 50K gk SERE
63213 404K T SERE
63214 404K =i SERE
63215 804K =i SERE
63216 404K =i SERE
63217 50K 1% SERE
63218 304K 1% SERE
63219 206X gk SERE
63220 304X 1% SERE
63221 104€ 1% SERE
63222 404K B1% SERE
63223 104K 1% SERE
63224 504K 1% SERE
63225 104K =i SERE
63226 | 10mEKiw gk SERE
63227 | 10mEKi 1% SERE
63228 304K =i SERE
63229 206X gk SERE
63230 206X gk SERE
63231 206X 1% SERE
63232 | 10mEKi =i SERE
63233 104K 1% SERE
63234 304K 1% SERE
63235 304 gk SERE
63236 104€ 1% SERE




No. £ 51 EiEt No. FR 5 B
63237 406K 5 B[ T 63244 1048 it HEm
63238 604K Tt BEM 63245 206X 1S HEm
63239 304K E; kS BEm 63246 1048 5% HEm
63240 1065 E; kS BEM 63247 604K it HEm
63241 304€ =it B 63248 1048 L1k HEm
63242 206K E; kS G 63249 104% it HEm
63243 204K Tt BEM
2 REOKER

1R10BK=S
TERRENS () BHEEH (N
7RA108 (H) 388 412 (393)
Rt 196787 63201 (44694)

X () - BEEOSEEEEEICKIBRETHHALBEER
XRE (484 NELTWLWSIH., RiITEHERLEEREMNTFTSE—HLEL

3 ABRFEORKR
1~6324961 B DIKR - TRI10BEEA
B A st BE
ABesh (&R %2306) 64|> L EEETIL  (RERHERAE0. 9%
FIERERE (387, #%87) 7 25 32
) (BRERE (54, 1313) 2 0 2
B A s (354, 1352) 3 3 6
3 @ (a4, %19 i i 2
m |FEERIRE (FE4. #B11) 3 0 3
RIBRAS (354, 1526) 2 2 4
IEFAFEEIMF (454, 567) 4 11 15
Bl - EERERET 3417|5 & B EHEE32684
Al - BEREG 496
BIRE/RERT 59265|5 HIET-149%
BHA~DBE 87
= B AN o B

4 RBRERKRORHSOIFN=DVT
ERDRBEREERFA. ABL Y. BA - REFEEZ IBREEREE (XL CEE) | Hho TRIZIZESE
(FREE) | ~EELEY,

5 F0ith

O#FifzIcHER SN - REEMES XARSE
- AR - RIGEE O LVERALES - 54
FAVDOTDEEN : 74



~ (3} o1 B~ w N =

Fadp - VRSB RE AN E B MR

(BIHE)

No. FIBA H FK %] FE 433
60518 1H68 304€ ZE 0T
62079 1R8H 107% K i Bt k=i
62088 1R8H 604X i N5 BT
62712 1H98 107% K i Bt iz
62714 1H98 304X ZE iz

AUDTDEEF

No. AR FK %] FE43 3
62672 1H9H 204% CE] ks ZUD
62673 1H98 204X B ZUDm
62674 1H9H 204% B ZUD
62675 1H98 204€ Bt ZUDm
62676 1H9H 204% CZ] ks ZUD
62690 1H98 204X Z ZUDm
63028 1R108 404X CE] ks ZUD




